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QUESTION 1

What\\'s the correct architectural network topology in IBM Cloud?
A. Region > VPC > Zone > Subnet

B. VPC > Zone > Region > Subnet

C. VPC > Region > Zone > Subnet

D. Region > Zone > VPC > Subnet

Correct Answer: D

QUESTION 2

What is the function of the IBM Cloud File Storage Capacity Expansion feature?

A. It is used by IBM Cloud Storage users to expand their file storage immediately

B. It is used by IBM Cloud Storage users to manage data flow

C. Itis used by the IBM Cloud Storage users to regenerate data storage that may have been deleted
D. Itis used by the IBM Cloud Management team to manage file storage capacity

Correct Answer: A

QUESTION 3

The Chief Data Officer (CDO) wants to build a new data solution for his clients. This application needs access to a
Spark cluster on IBM Cloud without the Spark Cluster being accessible over the Internet. If IBM Analytics Engine (IAE)
is selected, what must be enabled to allow the application server to securely access IAE?

A. Transverse Endpoint

B. Gateway Endpoint

C. Service Endpoint

D. Transit Endpoint

Correct Answer: C

QUESTION 4

Why should removing the Veeam service from a deployment be done with caution?
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A. Agents are left on the VSIs which can degrade performance

B. The service agreement carries cancellation costs of up to 1 year
C. If a backup is currently running, it can corrupt the filesystem

D. Doing so irreversibly deletes all the previous backups

Correct Answer: A

QUESTION 5

Which IBM Cloud database service provides transactional support?
A. Databases for PostgreSQL

B. Cloudant

C. Databases for MySQL

D. Databases for MongoDB

Correct Answer: C
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